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QUESTION 1

What information would be streamed through webhooks? (Choose two.)
A. location coordinates of RFID tags

B. alerts

C. SLE metrics of clients

D. audit logs

Correct Answer: AD

Reference: https://www.mist.com/documentation/webhooks/

QUESTION 2

A WxLAN policy does not appear to be working as intended. You determine that a rule further down the list is not being
executed. What is the problem in this scenario?

A. The external policy server has intermittent connectivity to the dashboard.

B. There is a problem with the labels.

C. The WXLAN policy supports a limited number of rules; you have too many rules.

D. The first rule in the list that matches will execute; the other rules will not be considered.
Correct Answer: D

Reference: https://www.mist.com/documentation/wxlan-policy/

QUESTION 3

What is the purpose of the PoE pass-through on a Mist AP?
A. to daisy chain BT11ls

B. to power a laptop during the deployment phase

C. to power any Mist AP

D. to power the Mist AP43 only

Correct Answer: A

Reference: https://www.mist.com/documentation/daisy-chain-access-points/
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QUESTION 4

You received reports of users not being able to access network resources all day. You know that your network has two
DHCP Servers: 10.7.0.24 and 10.1.0.24. Referring to the exhibit, what do you determine?

MARVIS
rank dhecp

* RANK DHCPServers BY ClientEventCount DURING "Today"

DHCPServers ClientEventCount
107024 (S (1735
10102 7013

10.10.10.10 . 253

A. DHCP is not the cause of the network connectivity issue.

B. There is a rogue DHCP server 10.10.10.10 handing out DHCP leases on your network.
C. More information is required.

D. The network\\'s DHCP servers are offline.

Correct Answer: C

Reference: https://www.mist.com/documentation/useful-marvis-queries/

QUESTION 5

What will the BLE array be doing in the configuration shown in the exhibit?
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Bluetooth based Location Services
[J vBLE Engagement
] App Wakeup

Asset Visiblity

A. listening and transmitting
B. transmitting only

C. listening only

D. setting vVBLES

Correct Answer: C

Reference: https://www.mist.com/documentation/where-is-ble-controlled/

QUESTION 6

After setting up a Guest-WLAN using the Mist captive portal, users complain that they are not able to see the captive
portal splash page. What would be two reasons for this problem? (Choose two.)

A. The guest VLAN tag is not configured on the switch port.

B. The DNS server\\'s IP address is not configured in the IP pool.

C. The Mist portal IP is not configured under the captive portal bypass.
D. The RADIUS server is not configured on the WLAN.

Correct Answer: AB

Reference: https://www.mist.com/documentation/guest-network-doesnt-work/

QUESTION 7

In which two layers of the OSI model are WLANS located? (Choose two.)
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A. Network

B. Transport

C. Physical

D. Data Link
Correct Answer: CD

Reference: https://www.controleng.com/articles/wi-fi-and-the-osi-model/

QUESTION 8

Referring to the exhibit, how much power will be lost from point A to point B assuming line of sight?
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Correct Answer: B
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QUESTION 9

You placed an AP on a map and applied an Asset Visibility license to a MIST AP. In this scenario, what will be the effect
on the BLE array?

A. The BLE array will be disabled.

B. The BLE array will be able to transmit and receive.
C. The BLE array will be in listen mode only.

D. The BLE array will be in transmit mode only.
Correct Answer: B

Reference: https://www.mist.com/documentation/where-is-ble-controlled/

QUESTION 10

Which three switch testing tools are available when using Wired Assurance? (Choose three.)
A. bounce port

B. iPerf

C. ping

D. load factory-default

E. cable test

Correct Answer: ACE

Reference: https://www.mist.com/documentation/switch-testing-tools/

QUESTION 11

Referring to the exhibit, what does the security alert indicate?
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v : @ Rougue AP detected

Reporting APs d4:20:p0:02:18:a29
SSIDs Linksys05406
Rogue BSSIDs 302303c4f44f

A. An AP that is not part of the Mist Org is connected to the same wired network as the Mist APs.

B. An AP that is not part of the Mist Org is launching a DDoS attack on the Mist APs.

C. An AP that is not part of the Mist Org is advertising the same SSIDs as the Mist APs.

D. An AP that is not part of the Mist Org is operating in the same RF channel as the nearby Mist AP.
Correct Answer: A

Reference: https://www.mist.com/documentation/rogue-neighbor-honeypot-aps/

QUESTION 12

Referring to the exhibit, what do you determine about the site\\'s Time to Connect SLE metric?
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A. Fifteen percent of the Time to Connect failures are related to associations.
B. Successful connections averaged 4.6 seconds.
C. Time to Connect Association failures impacted 15% of users.
D. Clients cannot connect to the Internet

Correct Answer: A

QUESTION 13
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What does Mist\\'s patented 16-element vBLE Antenna Array do when "engagement” is enabled?
A. performs radio resource management

B. locates Wi-Fi assets

C. transmits unique and directional BLE beams

D. performs personal pre-shared key sharing

Correct Answer: C

Reference: https://www.mist.com/resources/ap61-access-point/

QUESTION 14

You are the only tenant in a building that has Wi-Fi. At times, the Wi-Fi network appears to be slow and you want to
determine if the microwave oven is causing an issue because it is used throughput the day.

Which SLE metric and classifier should you look at to determine the issue?
A. throughput/network issues

B. capacity/wifi interference

C. throughput/coverage

D. capacity/non-wifi interference

Correct Answer: D

Reference: https://www.mist.com/documentation/radio-management-event-types/

QUESTION 15

Referring to the exhibit, what happens to all client traffic?
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Isolation

prohibit peer to peer communication

Filtering (Wired to Wireless)

ARP
Broadcast/Multicast

Allow mDNS

DTIM Period

DTIM period @ 2

A. All broadcasts and multicast packets would be blocked on a specified interface except ARPs, including DHCP
broadcast transactions, and IPv6 neighbor discovery frames (ICMPV6).

B. All broadcasts and multicast packets would be blocked on a specified interface, including IPv6 neighbor discovery
frames (ICMPv6), except ARP and DHCP broadcasts.

C. Broadcasts would be blocked, the AP would proxy ARP for the subnet, and Apple devices will not discover each
other using Bonjour.

D. All broadcasts will be sent and the AP would proxy ARP for the subnet.
Correct Answer: C

Reference: https://www.mist.com/documentation/isolation/
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